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Pediatric Extrapolation Concept

Similarity of Disease and Response to Treatment Between Reference and Target Pediatric Population

Evidence to Support Similarity

Types of Data: Clinical Trial Data; nonclinical data; real world data; other sources

Pediatric Extrapolation Plan

Potential Study Designs
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Drug Response to
pharmacology treatment

Review and synthesize available data in reference and target populations

MNeed for additional
data collection _

Emerging clinical and
scientific data

EXTRAPOLATION PLAN Data generated do not
Objectives(s) and methodological approaches to generate completely address
data to support efficacy and safety in the target population knowledge gaps

P

EXECUTION OF THE EXTRAPOLATION PLAN
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